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1. Aufgabe:	Klammere so weit wie möglich aus.

		a) 25 · 3x + 25 · 7y = ______________________

		b)    - 12 · 6b - 12 · 2c = ______________________

		c) 20a + 40ab = ______________________

		d) 39fg – 52f + 65g = ______________________

		e) 36c2d - 18cd2 - 108cd = ______________________

		f) _____________ = ________________

		g) 0,9defg + 1,8d2e2f3 =  ______________________



2. Aufgabe:	Multipliziere aus.

		a) 20 · (3x + 5y) = ______________________

		b) 7f · (5f + 12g) = ______________________

		c) 1,5 · (9 - 6p)  = ______________________

		d) 0,5q · (10 – 0,9 q) = ______________________

		e) x · (2t – 3ts) + 6x · (4t – 5ts) 

   = ______________________= ______________________

		f) 2,3 · (4x - 3y) + 5,1 · (5x + 10y) 

   = ___________________________ = _________________

		g) (-5) · 35 · (x + y) + 10 + (-3) · (3x - 5y) 

   = ____________________________________
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